KL )—F @ Asada
H-150

T H 2017/10/25



KLoyy—F

@ Asada

H-150
Ref No.| a—FMNo. | BRE B% ikl
N
1 81176 AS R KT w4 AS2542 2
2 DH222 DH2 fIRx+ v 7 4
4 80340 FREATUTARIL b M6 X 25 5
5 DH211 DH2 FSALF 1
6 DH114 DH1 Y Uw 7 1
7 DH213 DH2 FS AR 1
8 DH216 DH2 7L — k 2
9 DH212 DH2 ¥ J b+ F 1
10 DH214 DH2 ¥ 7 FR 1
1 81042 U+v kM6 3
12 DH215 DH2 il 2
13 DH217 DH2 NV EILI ¥ T b 1
14 83503 C Bk R ISTW-17 2
15 81263 MIFREL6 1
16 81118 INREE 6 8
17 80161 RATUTARIL F M6 X 10 3
18 80162 REATUTARIL b M6 x12 1
19 80615 RATUTARIL b M6 X 15 8
20 80166 FREATUTARIL B M6 x 20 3
21 81155 THEL6 8
22 81146 TEL6ESL 6
Fr v E
1 70633 TI3RTAvIR—L 1
3 82298 M/ MAX12 1
5 80115 AR+ M8 X 30 1
6 81028 RETY LM 1
7 81020 ATV L M8 1
8 DH223 DH2 F v v 7 R{K 1
9 70632 R=LTS5oTv— 1
1 83085 AFY G EY 4%x25 2
12 83039 AFY G EY 6x%25 1
13 70631 RX—/%—/ J SK-38 1
14 DH225 DH2 F¥ v M 1
#H DH229 FrvgnrEIL (N.2,4,10) 1

B H 2017/10/25






